BE o R K49429
®  MWMI250W

ShonfEin il MWM1250W-10

- BRCENDEE, HWFEbmEiaETZE CEB L,
- RS mO—EBICE, TEH Y MNRFTEDHDEmbDIBDET,

MR etIHIX Y —



RO ZEXICDONT

1. MmO TEXDOER, TiHEEE JE#EE L
qom &

ootz (B0

# o & W

Hm#ES

G %

HEP MR R I MRRRIES K UREICREAD
R—LTU—MIRRLTWET,

OOO® O

2. OB -, PITFOoEA2RLTED
E
Heevalid, flAAETATH S ERSEE
% iz &b Fi5 35T

V7o RSN 3HEcHEETII4
BLRVET,

3. RHILESH K -TW3 b0, &
BHLEED, LRI PV ETOT, £
DOEE CHKIE TV EE 4,

4., BHTHO—MWITE, TEH - £y MRFED
HDOWEMH 04, TEXDBEIT THEELE
I, FhmFE b, SN TORVWEREIR
v MRFEOHDORIBE S E TV EE T,

KBERIBRFLC RO TFERCR - MEZEE
THIENBDET,

MERmOERERICONT

FERRIISHMAERDEBEORD L ZE 0,
HHRENRE BV £4 &, BRORED
fHaeic B84 2184800 T,

CORBOFERBEOMIBER D) .
BLEFT B0 R O TE, 2L, HEBERNT
H o Th, BHHIEIT>WTIRAIEE &% JHE%
IHTWELEELDDET,

B m DS FRERMIC 12 Lo S ERR T
BRTLEIH, HEFERERETH - T, W
HEED TEFEL D - ISR B X &I
WTTHREETWEEEE T,

REEIZDIVT

BROSE IHEOIFRR E 50 40T, 1Tb
NWTLIEE W0,

B0E L 7o G E& P IR ERIAZ IcB NS e EL W
FHENERR28E8E. FEONZRAKLD &
TOTTERLIZE W,



MWM1250W
TL—4

W ES = T % 4 % 5 %

| 1570310003 A4 7 L—4CP 1

2 | 000006200M og—) vy ;0.1 2
3 | NZ22150 Fo bk 8 202 M22X1.50 2
4 | WSA22 NEFEH A 3TH M2 2
5 | 000098100M by T YsEY; 1 -1 1
6 | 000088100M | ~N—#E v ;19x3 1
7 10945902003 5 — FCP 1
8 | BZ12065 A 88 MI2X65 2
9 | NZ12 Foub 8 2va MI2 2
10 | WSA12 NERFEHF 3TY MI2 2
11 | 0943941003 7545+ CP 1
12 | BSZ10030 IHFELE T MIOX30 4
13 | NSZ10 IHSF o b 8 22 MIO 4
14 | WSA10 SEFEHF 3TH MIO 4
15 | 075290100M 7y vy ;10 4
16 | 1116920004 4771 —A4 CP 1
17 | ONASI 7Y)y—2=y7NL A PTL/8 2
18 |KBB—3530B | #—&vF34~71y s B 35x39%x30 4
19 | 099925000M E> CP;35%153 2
20 | DCO035 CHHI AT U2 35 2
21 | 076812000M 7y ¥ ;35X23 2
22 | BSZ10020 aHSELE T MIOX20 2
23 | WSAI10 SNEREHF 3TY MIO 2
24 | 093342100M E> CP;30%x101 2
25 | BSZ10020 IHSELE T MIOX20 2




MWM1250W

VA%

L

41 NNF10

77vVF4arFy b MIO

42 | 0940140000

SN FavA

43 | 0940930000

AbyT=—7

44 1 0433691000

€y FVF UL T L— b

45 | 1339070000

STAR=w—2 5~ ;40 (Vv Ry F)

46 1061640000

ARV 2 =27 |

47 1064620000

TN A3y 48

48 | 1064640000

TN bA4as B0

49 | 0009350000

Bt 7 ~ov; R—T0100SQS

RiiFs WRES &R t i) &%k % E3
WSA10 NERYFHE 3T MI0 2
1412510003 4 — 5 —JINCP 1
ONAS6 JY—R=w 7N A M6 1
0936740003 -t 1
BSZ08016 a#xyEREEr 7T M8BX16 6
WSAO08 NRHEHTE 3Ty M8 6
044097200M Ty ¥y ;8 6
0935957003 AA YT 71L—46 CP 1
0999232003 7 4 Vi CP 1

35 000451000M A xKILE 88 MIOX25 4
36 | NSZ10 a#sFyr 8 2¥a MIO 4
37 | WSAI0 NRYFEHTF 3TY MIO 4
38 099924000M AT — 1
39 000738000M JYFEvr ;6 1
40 044098500M 7y ¥ ;10 1
1
1
4
1
1
1
1
1
2




MWM1250W S EYITT Y

R=IVY 7% - ROzaa—=ib

&

13\% %/28

AR—)L#E G 1000~ 110000 &F

WwmES =i T PR % & £

| 0951081004 T—57 3%y FCP 1
BZ12030 Rk 8.8 MI12X30 4

3 WSA12 NEHHFX 3T MI2 4
4 065482200M Ty ¥y ;12 4
5 093475000M T =K R 4
6 BZ20300 For b 8.8 M20X300 2
7 NZ20 v b 8 2¥2 M20 2
8 WSA20 NEHHAR 3T M2 2

V7 b7 —4CP

ONAG JY—R=y 7N A M6 1
093343100M vy CP, 30X231 2
BSZ10020 47K 7T MI0X20 2
WSA10 NEHFHEX 3T MIO 2
093342100M vy CP; 30x101 1

15 BSZ10020 aFy R br 7T MI0X20 1
16 WSA10 NEHHAEX 339 MI0 1
17 1039130003 FYVao—i¥y 7 FCP 2
18 BZ12035 Fub 88 MI12X35 4
19 NZ12 v b 8 22 M2 4
20 WSA12 NEHFEHER 3T MIl2 4
21 125519000M 7y ¥y 30.5X4.5 2
22 1245120000 + ¥z o0—LCP 2
23 066650100M hT— 2
24 085137000M 7w ¥y ; 13X3.2 2
25 WSA12 NREFH X 3T MIl2 2




MWM1250W S v BT
N=IVy7% - Roan—=ib

Y,

L

L7 [N
a5 O
.
&

&
w—p &

~N—)LE ¢ 1000~ 11000 &E

AbhES A RES 0 T PR % 1 E)
26 BZ12020 Fah 88 MI12x20 2
27 1412781003 754y b 1
28 BZ12035 Ak 88 MI12X35 4
29 NZ12 v b 8 22 MIl2 4
30 WSA12 SNEHFHR 3T M2 4
31 1064630000 RN FA4as 49 1
32 073444000M DN —




MWMI1250W S Evoesy
2EUE - o4

RiiEs| MmES s on % i) %4 i %
1 0938882003 z% v K CP 2
2 0939160000 Fy A5 — ;150 2
3 B5Z10025 afgyFt 7T MIOX25 8
4 NSZ10 afyFy b 8 2¥2 MIO 8
o WSA10 NRYH R 3T MIO 8
6 044098500M 7y ¥y ;10 8
7 150336000M vy CP 2
8 000086200M N—FEY ;12X2 2
9 CAP050050 F oy 7 0X50X2.3 2
10 | 0934824004 v+ 25— CP 2
11 J6210LLU R—~<71Y 7 6210LLU 2
12 J6208LLU R—~x71Y 7 6208LLU 2
13 077984000M 7y ¥, 55X25.5X6 2
14 1 000712000M F oy RF oy b M24X15 2
15 PC040032 7Y EY 4X32 2
16 000416000M *rv7 ;80 2
17 0933324004 54 % ;365 2
18 J6206LLU K—R7 Yy 6206LLU 4
19 093433000M A5 —;32.9X120 2
20 | 066650100M i 4
21 070433200M Froy? 4
22 0934320004 £ CP;30X196 2
23 062908100M 7w ¥y ;20 2
24 | NZ20 Fv b 8 2¥a M2 2
25 WSA20 NRYH R 3TU M2 2




MWMI1250W S~ EYIvr
RYEK - 94F%

AHES HRES i m % R a5 ]
26 BZ12025 Faor 88 MI12X25 4
27 WSAI12 NEFEHR 3Tv M2 4




MWM1250W SvEYITvL Y
TEROT A4y

Fr Ry

RS BaFZ %B a i fE%k 1l %
1 0931130004 U HRAXRT ) T 1
2 BX10030 Ao 10.9 MI10X30 1
3 BX10040 Frt 10.9 MI10X40 23
4 WSA10 NEHFHAE 33y MIO 24
5 ONASI1 FYy—2=y 7N A PT1/8 1
6 1440750006 a7vE—4% ; MP125 1
7 0931780004 A=Y 1
8 ONB6 7YV —RA=y 7 B M6 1
9 BZ12045 Kk 88 MI12X45 2
10 BZ12040 F k88 MI12X40 4
11 WSAIL2 NERHFHX 3Ty Ml 6
12 NZ12 >y b 8 2va M2 2
13 WRAI12 EsHAx M2 4
14 10932240000 Ty v a; 41X25 1
15 0931810002 v=4% ;13T 1
16 0907800000 7w ¥y 8.5X3.2 1
17 | BSZ08020 aFdy R T M8X20 1
18 | WSAQ8 SNEYH R 3TY M8 1
19 087166000M R ~—4 ;5 35.TX25 1
20 0779320002 NN =4 v 18T 1

1
1
2
2
8

22 J6904LLU F— 7Y s 6904LLU
23 | J6306LLU R—x7Y 7 6306LLU
24 | DHCO72 ChHsv2v 73+ T2

25 BZ12025 Kb 88 MI2X25




MWM1250W SvEVTTo v
IRTT ALY

RihEs HmES B an & i {E %X {&
26 WSAlZ NERYFH R 3TU M2 8
27 093204300M AN = 1
28 BZ06016 R b 88 M6EX16 2
29 WS06 NRFH R 23 M6 2
30 WRAO06 EZHAR M6 2
31 0779311002 NV F Y 23T 1
32 0931790002 EZE 2l N S 4 1
33 093182000M YaAd vt 1
34 PS060040 ATV TEY 6X40 2
35 1121950002 Ve b ALY 1
36 JPF206G N4 75T = PFAG 2
37 JCS206LLU A=y bauyxyyrs CS206LLU 1
38 BS5Z10035 aHxy R T MIOX35 3
39 NSZ10 axyF bt 8 2va MIO 3
40 WSAIL0 NRFEHFER 3Ty MIO0 3
41 KFC08070320 | ~fav*— Y aw<i 8XTX32 -




MWM1250W

SybEviey

K897 .83 - hory—

22
24
RiES BaES & B % PR ik fid =
1 141210000M Z7alry b b0X20T 1} =% ¢ 100~110cmH
2 141211000M 27 ay b B0X22T 11 X=X ¢ 120~130emH
3 000088100M N—F By ;19X3 1
4 112198000M B 5 — ; 255X26.0 1
5 093399000M 75— ; 26.5X12 1
6 056984000M AR 1
7 0932341004 o—% CP 1
8 JCSPB207LLU | 7Y v 2=+ b CSPB20TLLU 1
9 BZ12045 Kb 88 MI12X45 2
10 NZ12 v 8 2va2 MI2 2
11 WSAL2 NERYFEH R JTv MI12 2
12 042783600M Ty ¥y 12 2
13 JPF207G NA 75 vy =2 PRAT 2
14 JCS207LLU 2=y b3IXRTY Y CS2TLLU 1
15 BSZ10025 afFy RN T MIOX25 3
16 NSZ10 axsF+wr 8 2va2 MIO 3
17 WSAIL0 SNERY¥H R 3T MI0 3
18 100260000M B 35— 5 42.7X9.5 1
19 094567000M B 5 — ; 42.7X37.5 1
20 094565100M Z7aX oy b B0X28T 1
21 088917000M B 5 — ;36 TX4 1
22 WRAZ24 ESsY¥hHR M24 2
23 NC2L.24200 FyrwRNFy b 2¥aks M24X2.00 2
24 PC050036 DYy 5X36 2
25 0932390002 Y7 huvy 1




MWM1250W
JFD7,8—35 - AV 5—

SvEYITTIY

REs| BaES B 5o % i) Sk & %
26 J6012LLU =79y vy 6012LLU 2
27 JCS207LLU 2=y b3o~N7 Yy CS207LLU 2
28 0932230003 AR 2
29 BZ12030 AN b 8.8 MI12X30 8
30 WSAIL2 NEAFHFR 3Ty M2 8
31 065482200M Ty ¥y 12 4
32 093232100M A7 Ay b 50X25T 1
33 094565100M AZa’ry b 50X 28T 1
34 WRA24 ESHH R M24 2
35 NC2L.24200 FrovRAF o b 2¥abs M24X2.00 2
36 PC050036 7)Y 5X36 2
37 093230100M 27ad .y b 50X18T 2
38 J600SLLU R—=_71) »5 6005LLU 4
39 DHC047 CHs Ay 7+ 47 2
40 DCO025 ChHsrxrg v 25 2
41 141212000M FYvavT7sh v rCP 1
42 DCO030 CHsrarg v 30 2
43 BSZ10025 aFyFENE T MIOX25 1
44 WSA10 NEXYFH R 3TT MIO 1
45 075290100M 7y ¥y ;10 1
46 093716100M oy FCP; 1 1
47 | NSZ10 afs+y b 8 2va MIO 2
48 081267000M FT¥¥ave—35 CP 1
49 DCO017 CHervrg vy 17 1
50 LAB0157B o—5Fx—r BJ0X157TL #A73vF71 1| @50, 511




MWM1250W
807 ,8—-35 - AVVY—

Sy

RIbES| M EFES Zh & 2] B % £
51 AA050 vF7 50 -
52 | AD050 A7y Yo 50 -
53 | 093601500M Hsx3—71L—1+ CP8 1
54 | BSZ08016 aHmy Rk T M8x16 1
55 | BSZ08020 aFyELE T M8x20 2
56 | WSA08 NERYFHR 3TT M8 3
57 NSZ08 aFyFy b 8 2va2 M8 2
58 1412150003 Fz—v45—ACP; R 1
59 1412200003 Fx—v45—2CP; L 1
60 0006900000 =F1 ; M8x14 6
61 WCHO08 HS5NF% Yaw M8 6
62 1339780000 STAR=—7 5~ ; 40 1
63 1064650000 SN 43y 5l 1
64 1061710000 SN 43y 8 1
65 0009350000 &5 ~ur ; R—701008QS 1
66 0009360000 &5 ~ur; Y—501008Q8 1
67 | WRAIL0 ESHAx MIO0 1




MWM1250W 5 EVTT2Y
897 ;3vkon-5

RitiEsS| HmES R an # i} k5 ] =l
1 0932341004 o—3 CP 2
2 JPF207G NA 75wy =i PF2AT 8
3 JCS207LLU 2=y b3a3YXTY s CS27LLU 4
4 BS5Z10025 aFy AL T MIOX25 12
o WSA10 Nx¥FHER 3Ty M0 12
6 093232100M Z7aly b 50X25T 2
7 093402000M A7 — ; 35.7X43.8 2
8 WRA24 EIHAx M2 4
9 NC2L24200 Fry RSy b 2Vaks M24X2.00 4
10 PC050036 7Y EY 5X36 4
11 148470000M F¥vav7shyr CP;2 1
12 DC030 Chzhrrxo Y7 30 1
13 BSZ10030 afFyFEr 7 MIOX30 1
14 WSAI10 NRHFHR 3T MIO 1
15 075290100M Ty e ;10 1
16 081267000M Fv¥avu—35 CP 1
17 | DCO17 Chsbrrxo vo 17 1
18 093718100M oy FCP ;2 1
19 BSZ10030 a#FyFr T MIOX30 1
20 NNF10 75vIVF4mriy b MIO 1
21 NSZ10 akmyFy bt 8 22 MIO 2
22 LA50090 o—35F = —> 5H0X90L 1
23 0938051003 A3 —CP 1
24 0006900000 =F1) ; M8x14 3
25 WCHO08 IR YVay M8 3

I
|



k897 ,3vFun—-5

RitEs HmES i an % 2 &% ik &
26 1339780000 STAR= —7 5~ ; 40 1
27 1061710000 TN r14ay 8 1
28 0009350000 REt5 ~uv 5 R—701009QS 1
29 0009360000 &5 ~ov 5 Y —501008QS 1
30 094946000M Ty ¥y 17.5X2.3 2




MWM1250W
Sy THRIVT—; 1. 2

SybEvTey

&= WEHES & G PR &%k 1% Z
1 0936163002 Y7 b 1
2 0936170002 TOI—=hTF— 1
3 093618200M Oy 77—} 1
4 BJ05012 H+5%+ v 7B 109 MbHX12 2
) NZ20 +w b 8 22 M2 1
6 WSA20 NrHFEHR 3av M0 1
7 ONAS6 JY—R=v 7T A M6 1
8 0936133004 # 4 CP 1
9 KBB—2520B A—RVES5AXT7TY) s B 25X28X20 1
10 110567100M Vv 7 b AL 1
11 NN20 +M4uavFr v b M2 1
12 WSA20 NeEFEHTA 37w M2 1
13 093615400M 2y K CP 1
14 WRA12 ESHHE M2 1
15 PC032020 gyEYy 3.2%x20 1
16 093754000M Ta—J TV ;12X48 1
17 093755000M B 12X48 1
18 WRA12 kST R MI2 1
19 NZ12 +w b 8 2¥a2 MIl2 1
20 077412000M 27y v H 2
21 076104000M Fov b, M10 2
22 NSZ10 akFyFy b 8 2¥va MIO 4
23 093548100M 5w FENY 1
24 093623300Y T FARILDE 1
25 NZ14 +v b 8 2¥a2 Ml4 1

|
—_
'S

|




MWM1250W
Sy TRIVT—; 1., 2

STV

18

RiEs Ha&ES il un % R % i =l
26 093495000M 27V v H 1
27 1093624100M ZL—+F CP 1
28 | PS050040 A7 vIEYy 5X40 1
29 BSZ10040 aFy Rt 7 M10X40 1
30 | NSZ10 aFgFvt 8 2¥= MIO 1
31 WSAIL0 NEFHAF 3Ty MI0 1
32 | BXI12050 Rk 109 €y MI12X50 1
33 | NZ12 Fv bt 8 2¥a MI2 1
34 | WSAIl2 NEPFEHEF 3TY M2 1
35 093611300M 7—4 CP 1
36 | KBB—2520B HA—=R Y547y vy B 26X28X20 2
37 | 0936252003 FLr—*t 1
38 | BSZ10020 aFyREvr 7T MI0OX20 2
39 WSAIL0 NER¥FHF 37v MI0 2
40 | WRAIOQ EZ¥A A MI10 2
41 NZ16 Fv b+ 8 2¥a MI6 1
42 | WSAIl6 NRFEHEX 339 MI16 1
43 | 077412000M A7) v H 1
44 1 076104000M Rk MI0 1
45 | NSZ10 amyEVE 8 2¥a MIO 2
46 093620100M oy F 1
47 093754000M 74+ —7 T VF;12X48 2
48 093755000M vy 12X48 2
49 | NZ12 Fv bk 8 2¥a2 MI2 2




MWM1250W
Sy TRV —; 3

SvEVITeIY

RlEsS WaBES 0 o % g Tk i
1 093700600M 7—4L CP 1
2 KBB—2025B A=KV ESAX7Y) 7 B 20X23X25 2
3 093622000M F o VRI 1
4 BZ12035 FIVE 8.8 MI12x35 2
5 WSA12 NEHFTAR JTY MI12 2
6 NZ12 v b 8 22 MI12 2
7 093621000M < 1
8 WRAZ20 ESHHx M2 2
9 PC050036 gy Y H5X36 2
10 093701100M oy FCP 1
11 PC032020 gyrEy 32xX20 2
12 WRAI12 ESHHT R M2 2
13 093754000M TZx&—7 XYL ;12X48 1
14 000062200M v 12X35 1
15 NZ12 +w bk 8 2¥a2 M2 1
16 093702300M 7—4& CP 1
17 KBB—2025B A=KV ESAxX7) vy B 20X23X25 1
18 WRAZ20 ES¥HEx M20 1
19 PC050036 7)Y 5X36 1
20 0916481006 AT T 1
21 070286100M AFY TRV Y — 1
22 025266000M FovAUFEHTR 1
23 BXT112110 Fr 109 ¥ MI12X110 1
24 NZ12 +v b 8 2¥a MI12 1
25 0937560000 T4 —7xT VK ,;16X32 1

|
T




MWM1250W

\' |

Sy EVTTE
Sy TRIVT—; 3

Riigs WMEEFS

# il t i

e
g‘g.z

26 | 099021000M

v Cl6x42

27 NZ16

+v b 8 2¥a MI6

28 WRAI16

ESHHx Ml

29 | PC032032

7Y vy 3.2X32

30 093704000M oy FCP

31 BSZ10055 aiFyEvr 7 MIOX55

32 NNF10 73 vIF4n vty b MIO
33 093709000M =

34 075290100M 7y ¥+ 10

39 NNF10 73 vIVF40ovFy b MIO
36 093707100M T—4 CP; A

37 | BSZ10050

aimyEvE T MI0OXB0

38 NNF10

73 vV v+ b MO

39 | 093708000M

T—4 CP:B

40 | BSZ10050

aimyFRNmE 7T MIOX30

41 NNF10

753 vvyFrA4ovoriy b MIO

42 |1 093784200M

ry—

43 | KBB—2030B

A=K ESA4xTY s B 20X23%X30

44 1 099920000M

59 7FHRWF— CP;2

45 | BJ08020

5%+ 9 7B 109 M8X20

46 140863000M

w7 HNFCP ;1

47 KBB—2012B

H—RKry 547 Y s B 20xX23X12

48 057788100M

D

49 | 075290100M

7y vy ;10

o0 BSZ10020

akyKmbr T MIOX20

ol WSAI0

NERYH AR 3Ty MI0

02 1412410003

75 =CP; A

03 RRT08020

K5 B 109 M8x20

o4 WSAO8

NERFHE 339 M8

0o | 044097200M

Ty ¥y ;8

56 141243000M

+4 771 —Fh

57 | BSZ08016

afFyRE T M8X16

o8 WSAQ08 SNERWHAX 3Ty M8
o9 WRAO8 Eo#ax M8

60 099999100M )

61 BZ06016 Fob 88 M6X16
62 WS06 NxYH R 2Ty M6
63 | WRAQ6 EZY AR M6

64 WRAO8 EF¥ A% M8

65 NZ06 +v b 8 2¥2 M6
66 141244000M Al

67 | BSZ08016

afFyRvE 7T M8X16

68 | WSAO08 SNERWHER 3Ty M8
69 WRAO8 EI¥H R M8
70 132680100M 4 FCP

71 055474000M

A7 xR+ 8.8 M8X20

72 NSPO08

aFyR7YTFe b 4 M8

73 132683100M

AARNTL—1bF ;L

74 132684100M

TAFZ7L—1+ R

75 BS5Z08025

aFyENmr T M8X25

Y I S N N E e N R N I O N R R N N D R R N e U I I I B B e Y I R B N S B B B e N e L N T N R T e e e e A e




MWM1250W
Sy TRIVS—; 3

4

SyEVITT

AtES HmES # T FR (i &
76 NSP08 AFZRTY VYT F v b 4 M8
7 044097200M Ty Y8
78 1064660000 FRW 43 52




MWM1250W S v EYIvL Y
AbLyFIUV—LA

37—~
-~ 39
HEs BEES R f £ (4] B 1 %
1 1412250004 A blbyF7UL—4LCP 1
2 BZ12090 Kok 8.8 MI12xX90 2
3 WSAI12 NEYHR 3TY MI12 2
4 NZ12 Fwv bk 8 22 M2 2
5 8023270004 7 —ACP 1
6 B716110 Ak 8.8 MI16x110 2
7 WSA16 NEFHT R 33y M6 2
8 NZ16 Fv bk 8 2¥a2 MI6 2
9 141231100M R A 2
10 132367000M A 1
11 | BSZ08020 afyRvr T M8xX20 2
12 | NSP08 aAFIRFYVvIFe b 4 M8 2
13 132368100M 7 v 7 CP 2
14 | 080414100M Ty¥y ;8 2
15 BSZ08025 aHFyENVE T M8X25 2
16 | NNF08 75v Y44 uardy b M8 2
17 | 043345400M ALVLN—=RTY T 2
18 141232000M 7y 1
19 BSZ10040 aFyEnbr T MI10X40 1
20 | BSZ10035 afyRb T MIOX35 1
21 NSZ10 agy+Fv b 8 22 MIO 2
22 | 0999180000 HARTY) v 7 0kef 1
23 | NNF10 75V ftuarFy b MIO 1
24 137487000M Y%7 b 1
25 | BSZ10055 amdy R 7T MIOX55 1




MWM1260W S EVITII Y
ALy FIUV—A

F—
’ﬁgﬁ
~L 39 B
AHEsS HTHES ol & & #r A%k fith £
26 NNF10 J5vIFAmaryFy b MIO 1
27 000088100M N—FEr;19X3 1
28 132377100M F IV ¥ CP 1
29 BZ06055 Rk 8.8 M6X55 1
30 NNFO06 75 vVFL4arvFy b M6 1
31 1323741000 2—3 ; ¢25.5 2
32 PC050036 JYEY 5X36 1
33 132708100M ¥y 7 b 1
34 BSZ10055 aFy R E T MI0OX55 1
35 NNF10 75 vIF AL arFy b MIO 1
36 000088100M R—=FEv;19%x3 1
37 132377100M + IV ¥ CP 1
38 BZ06055 F b 8.8 M6EX5HH 1
39 NNF06 75vVFf4uaryFy b M6 1
40 1323741000 o—3 ; ¢25.5 1
41 132375000M NIT—; AwF 1
42 132379000M o—3 ; Ay F 1
43 J6206LLU R—IX7 1Y s 6206LLU 1
44 DHC062 CHIZr427 TF 62 1
45 072005000M Ry T A 1
46 058125200M 7w Ve 26X2.3 4
47 PS050045W ATy Ty FIouaw 5X4h 1
48 0633120000 T2—Y 77—k 1
49 802175000M 7545 bCP 1
50 BSZ08020 aGFyENE T M8E8X20 2




MWMI250W S5 Evoesy
APLyFIUL—A

(‘%}\4\
Vj% N N
§ 40
33
47
34 § pro
g,.,45
S
@43
C—44
@\41
48\©
37@
[ 13965-1 | ?ﬂ%
39
AHEEl A mES il AT & fian iliksy 1 %
51 NSP08 a#FFATIY T+ y b 4 M8 2
52 0940341000 o] ) 1
53 1329461000 SN T 4N A 1
54 1064670000 S~ 443y 53 1
55 0967970004 Rz 2




MWM12560W Sy E o2
APLyFa—3
~
g || ||
16—_g;
13966
RHEEES TLEES = i & %% Ui
1 | 137497000M | 7L —ACP R Lo 7 1
2 | JCS203LLU | 2=y bS5 ~7 1 > 7 CS203LLU 4
3 | JPFL203G A75vv to PFLI0S 8
4 | BZ06020 T F 88 MB6X20 s
5 | NPOG 27 ) > 7+ kM8 8
6 | WRAOG Esvax Mb 8
7 | 1343760003 HN—CP: AL o7 1
8§ | 1375011000 ZhLyFO—5CP; 720—18T ]
9 | 1875031000 ZhLyFO—5CP; 720—28T ]
0 | NZ12 Fo b 8 2v- MI2 2
11| WSAL2 NEFHR 350 MIL2 2
12 | WRALZ ESvhx M2 2
13 | 134892000M | %+ v 7 45 2
14 | 141233000M | 7 s A% 4 FCP 1
15 | BSZ08020 axF AL T MBX20 4
16 | NSPO3 IHIRFY) v T+ b 4 M8 4




arJ

MWMI1250W 55 Ev7sy

17.18

RuiEds| Hm&ES &R oo % iy {E%k ] =l
1 1484830000 Fy vy ;3 (MWMIL2) 1
2 BSZ08070 aHyENVE T MEXTO 2
3 WRAO8 ESHFAEX M8 2
4 NSP08 AHYATYTFy b 4 M8 2
5 146561000M 74 NI FAVIPFT v PF1/4 6
6 10840406 f—R=y 7N PF1/4xXPF3/8 2
7 KH0602800DP | = 7>+ —2Z 3,/8x2800 S901—4 2
8 106900000M 7w v vy PF1/2XPT3,/8 2
9 KH0402400GP | =2 7w H—2Z 1,/4X2400 S452—4 2
10 10330406 F—Zx VK PF1/4XPT3,/8 2
11 0948451106 v CWPT5X365X629 1
12 | KHO0404400GP | 27 v+ —2R 1/4X4400 S452—4 2
13 1033—04—06 f—RxTH PFL/4XPT3,8 2
14 | 0931592206 vy v CWP5X210X480 1
15 0941061004 AN 1
16 044097200M Tv ¥y ;8 2
17 | BSZ08016 axyELE 7T M8X16 2
18 WSA08 NRFEHR 3Ty M8 2
19 1412480003 AN — 1
20 WRAOQ8 LN R M8 3
21 BSZ08020 a#AyFEE T MEX20 3
22 NSP08 AHIRATYV TSy 4 M8 3
23 0941090000 =507 14 1
24 | BZ06040 Fo k88 M6X40 1
25 | NZ06 F+v b 8 2¥a2 M6 1




MWM1250W
a7

3

FoEVTTIY

17.18

RiiEs HaEFS B i & 5 8%k i
26 | WS06 NFHFH R 2T M6 1
27 WRAO08 b ARM8 1
28 098530000M F v RN 3
29 BSZ08016 IHyFELE T M8XI16 3
30 WSAO08 NxFH A 3Ty M8 3
31 093909200M 759+ CP;2 1
32 NSZ08 axsFy 8 22 M8 1
33 WSAQ08 N HFHA X 3T M8 1
34 | 098624000M F v 2RI 3
35 BS5Z08016 aFyEME T MBX16 3
36 WSAO08 NxrHFEH X 37v M8 3
37 093908100M 737 v b+ 1ICP 1
38 | NSZ08 aHyFv b 8 22 M8 1
39 WSAO08 NRFHFR 3Ty M8 1




IND—INy r—2

ST

Rilks MEEFS i i %% ) T« i 5
1 1124480000 NG =Ny o T 1
2 2086 —06 TR PT3,8 1
3 106900000M 7y v PF1L/2XPT3,/8 2
4 1369190000 Tang i 1/2-60u 1
5 KHO0800500PP | 27 Y& —2Z 1,/2X500 4—4 2
6 1035—08-06 —2 T vF45 PF1/2XPT3,/8 4
7 1068—06 PF7 v v s PF3/8XPT3/8 2
8 0008270000 PICA ¥— ;3 1
9 044097200M Ty ;8 3
10 BSZ08016 agyEtr 7 MEXI16 3
11 WSAQ08 SNEFHEF 3T M8 3
12 0939071003 7=k 2
13 BZ12040 Ao 8.8 MI12X40 4
14 WSA12 SNEHH R 3T M2 4
15 NZ12 +v b 8 2¥a MI2 4
16 065482200M 7y ¥y ;12 4
17 BZ12030 Fo b 8.8 MI12X30 4
18 WSAIL2 SNEHHAF 3T M2 4
19 JSFO40ASY NG —Y a4 vk SF-40 1
20 000462200M v CP;10 1
21 0003970000 PICH++ v 7" ;30 1
22 IRF250 JE—bFA T7.4X250 10
23 0749681000 R4 FNVFa—7 ;500 5
24 0889750000 Z v ; 300—350rpm 1
25 1412450000 SN Ny =Y 1




MWM1250W 5 Evoziy

O

REsS HTRES il o R A% &
1 112214000M 75459 b CP, Y% — 1
2 BSZ08020 aFyELE T MEX20 2
3 WSAQO8 AERFEH R 3TY M8 2
4 044097200M Ty Yy ;8 2
6 CP03010 +F~Naxy M3IxXI10 2
7 CP03014 +Fr~XaxyY M3X14 2
8 NAO03 +w b 4 22 M3 2
9 WS03 NEFHR 239 M3 4
10 WRAO03 ESH¥EHE M3 4
11 1347710000 avbro—=Ey s 2R 1
12 1412390000 2w/ a—F 1
13 1105931000 BEa—-F; vy — 1
14 1345450000 a— F ;5000 1
15 1110350000 E—T T4 RAI-FZA v F 1
16 098755200M T VI 1
17 BSZ08020 aHFyENLE T M8EX20 2
18 WSAQ08 NEYEH X 3T M8 2
19 044097200M Ty Yy ;8 2
20 0749681000 ANA S NWVF 2a—7 ;500 2
21 0937330000 RV M= By g SRV 1
22 0937320000 VFE ¥ —; GLS—S1 1




MWMI1250W 5 Evoesy
F—Jiav o

~ %;
= S
12216-3
Rigs Ma&ES B on % R Lk fié El
1 0965654004 A by CP 1
2 KBB—3540B A=Ry AT 7 B 35X33x40 1
3 077984000M 7y ¥y 00X25.5X6 1
4 NZ24 Fw b 8 22 M2A4 1
o WSA24 NEY¥HE 3Ty M2 1
6 0800390006 ARTY T 1
7 070286100M AT TR — 1
8 025266000M FagAUFHR 1
9 BXTI12100 Ah 109 ¥y MI12X100 1
10 NZ12 +v b 8 2¥a MI2 1
11 098666200M 715 — ; 28X39 1
12 KBB—2530B A—RKYFSAXT Yy B 25X28%X30 1
13 PS050040 Z7Y v ey 5X40 1




SF—40
IAE VR VA

RS BmES & o % i) B i =l
ASY | JSFO40ASY Ny —YaA vk SF-40 1
1 JSE0401ASY Vad vt AvF+2 1 SE-40 1
2 JSF0402ASY a4 vt 7Tvys 3 SF-40 1
3 JSE040—3 TR A= A4 F SE—40 1
4 JSE040—4 TrvEYAN= Ty SE—40 1
by JSE—ASY 245 23 SE ASI00 2
6 JPCI4ASY sg3v7rYy 73 (1D 1
7 JPYSE Evvy+a—7 (SE) 1| @6ff
8 JFY6229—2 T4 F4vya—y 79 (SE) 1
9 JSE0402 NAF FTuy SE—40 1
10 JSE0401 N7 A4 vF SE—40 1
11 JFY6228—2 T4 F74vya—s 4 v+ (SE) 1
12 P510065 R7Y v IEY; 10X65 2
13 JPY6227—2 =NTFa—z (SF) (30) 1







A S—=170703Q

iy i 066-8555 T @ i EE #1061 F # 2

TELO123-26-1123
FAX0123-26-2412

FREZEPF 066-855 T @ i EE #H 1 06 1 &F #8 2
TELO123-22-5131

FAX0123-26-2035

FF 098-4100 REEMEEWFEEHFONY1191FEH#44
TELO162-82-1932

FAXO162-82-1696

EPFF 080-2462 M 22441 TH12F# 4

TELO155-37-3080
FAX0155-37-5187

HIERE%EPF 086-1152 EEBhZEENILT 2 THEHL 6% 2
TELO153-72-2624
FAX0153-73-2540

TEEEER 0283172 BAFEEETOEAITILFREHE120%3

TELO198-46-1311
FAX0198-45-5999

B 2% 983-0013 EREANEGTHEHREX HEFmHAL179-1
TEL 022-388-8673
FAX022-388-873b

INUWE ZEPR 323-0158 #F A B 1l # B 251 2 -1
TEL 0285-49-1500
FAX0285-49-1560

AR 484-0894 EFHME XA ILHPNEFSHESF I
TEL 0568-69-1200

FAX0OB68-69-1210

M ILEZEPF 700-0973 RMIWEBMILTILEX FHEHE704-103
TELO86-243-1147

FAX(086-243-1269

HEAREEPT 861-8030 REAREREAMHEX/MILAT1639-1
TEL 096-389-68650

FAX096-389-6710

ZRIL = EFF 885-1202 = IFEERM T S ET R M 1003 - 2

TELOS86-53-2222
FAX0986-53-2233

g
il
L
M

Gl
5
i

T.29. 07. 3S®



